Unit 1, Station 1, Round 2,

Task 3
E:L Four Digit plus Four Digit Addition Name:

Solve each problem. Answers

1} 7,380 + 5,881 =

2) 6,268 +6,033=

[ 2%

3) 8,956 +2.896 =

4 5654+ 1,025=

S) 6,486 + 4,168 =

6) 3,090+ 1,794 =

7 9.325+2,647 =

8) 8,593 + 1,351 =

9 9,110+ 1,248 =

10) 8994 + 5,590 =

1) 9640 + 9,061 =

12) 7517+5415=

13) 7,724 + 5,496 =

14) 4357+ 1,621 =

15) 3947 + 3,682 =

16) 5313+ 1,140 =

17) 1,942 +1,339=

18) 6,990 + 6,657 =

19) 6,360 + 4,986 =

20) 6,432 +4.458 =




Unit 1, Station 1, Round 2,
Task 8

E:L 4 Digit Minus 4 Digit Narme:
Use subtraction to solve the following problems. Answers
1.
2,702 ) 7,575 3 9,527 49 4,049
-1,085 -3.409 -1,451 -3,546 a2,
4.
S 1,692 6 1,230 2,152 8 3,291 >
-1,525 -1,011 -1,257 -1,702 "
7.
8.
9) 2,251 100 9,313 1) 2,395 12) 2378 9.
- 1,861 -4,759 -1,677 -1,771 o
11
12.
13) 20,006 14) 10,001 15) 50,001 16) 30,006 13.
- 13,030 - 5,128 -43.996 - 935
- - - - 14.
15.
16.
17 70,007 18) 60,006 19) 90,006 200 30,006 17.
-62,249 -48,081 - 1,216 - 253




